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1. (a) What are clustered systems?
(b) Why clustered systems result in increase in availability.
(¢) How clustering is structured symmetrically or asymmetrical 5+6]
2. (a) Write short notes on swap-space location.
(b) Differentiate among the following disk scheduli ithms,
i. SCAN

ii. C-SCAN
iii. LOOK
iv. C-LOOK. [6+10]
3. Discuss in detail various SCh%ﬂfo fining the logical structure of a directory.
[16]

sons fop'the parent to terminate the child process?

e Peasons for interprocess communication? [5-+5+6]

5. What is cQoperating process? What are the methods for processes to cooperate?

[16]

6. (a) What hardware features are needed in a computer system for efficient capa-
bility manipulation? Can these be used for memory protection?

(b) Discuss in detail how two users communicate securely over an insecure channel.

[8+8]
7. Explain the memory management technique that supports users view of memory.
[16]
8. (a) What are the conditions for the deadlock to occur? How can a deadlock be
prevented?
(b) Differentiate between polling and interrupt initiated I/0? [10+6]
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1. (a) What hardware features are needed in a computer system for efficient capa-
bility manipulation? Can these be used for memory protection?

(b) Discuss in detail how two users communicate securely over an insé @ annel.
8+8]

2. Explain the memory management technique that supports miserstviewgof memory.
[16]

3. Discuss in detail various schemes for defining the{o@ical stsucture of a directory.
[16]

4. What is cooperating process? W

e methods for processes to cooperate?

[16]
(a) What are the reas r thgparént to terminate the child process?
(b) What is casc mation?
(¢c) What arg\t 1 interprocess communication? [5+5+6]
(a) WRat N red systems?
(b) Whyiclustered systems result in increase in availability.
(¢) How clustering is structured symmetrically or asymmetrically. [5+5+6]
(a) Write short notes on swap-space location.
(b) Differentiate among the following disk scheduling algorithms.
i. SCAN
ii. C-SCAN
iii. LOOK
iv. C-LOOK. [6+10]
(a) What are the conditions for the deadlock to occur? How can a deadlock be
prevented?
(b) Differentiate between polling and interrupt initiated I/0? [10+6]
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1. What is cooperating process? What are the methods for processes to cooperate?
[16]

2. (a) What hardware features are needed in a computer system capa-
bility manipulation? Can these be used for memory proteétion?
(b) Discuss in detail how two users communicate securely oyer all insegute channel.
3

[8+8]
. Explain the memory management technique that tSpusers view of memory.
[16]

4. Discuss in detail various schemes fo @ 1ing the Togical structure of a directory.
[16]

5. (a) What are the condifions forjithe deadlock to occur? How can a deadlock be

prevented?
(b) Differentjat @ : ing and interrupt initiated 1/0? [104-6]
6. (a) W ar&e easons for the parent to terminate the child process?
(b) What'is caseading termination?
(c) WhatVare the reasons for interprocess communication? [5+5+6]
7. (a) Write short notes on swap-space location.
(b) Differentiate among the following disk scheduling algorithms.
i. SCAN
ii. C-SCAN
iii. LOOK
iv. C-LOOK. [6+10]

8. (a) What are clustered systems?
(b) Why clustered systems result in increase in availability.

(c) How clustering is structured symmetrically or asymmetrically. [5+5+6]
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(a) Write short notes on swap-space location.

(b) Differentiate among the following disk scheduling algorithms.
i. SCAN
ii. C-SCAN
iii. LOOK

iv. C-LOOK. % [6+10]
(a) What are clustered systems?
(

Why clustered systems result in inerea; ilability.
How clustering is structured ically or asymmetrically. [5+5+6]
pa
?

)
b)
(c)
(a) What are the reasons for t t to terminate the child process?
(b)
)
)

C

b) What is cascadingferminati

(¢c) What are t sons foglinterprocess communication? [5-+5+6]

(a) Whag#areyth@ conditions for the deadlock to occur? How can a deadlock be
preye

(b) Diffegentiate between polling and interrupt initiated I/O7 [10+-6]

(a) What hardware features are needed in a computer system for efficient capa-
bility manipulation? Can these be used for memory protection?

(b) Discuss in detail how two users communicate securely over an insecure channel.

848

6. Discuss in detail various schemes for defining the logical structure of a directory.
[16]

7. Explain the memory management technique that supports users view of memory.
[16]

8. What is cooperating process? What are the methods for processes to cooperate?
[16]
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